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QUESTION 1

A MultiProvider has four InfoCubes as components. One InfoCube is a VirtualProvider and two of the others have
aggregates. The total execution time of the MultiProvider query is 29 sec when you expect 10 sec. What can account for
this scenario? There are 3 correct answers.

A. The shadow aggregates are being used because of the roll up job.

B. The query is running in a batch process.

C. There are non-cumulative key figures in the InfoCubes.

D. The query is configured for nonparallel processing.

E. There are insufficient background processes at execution time.

Correct Answer: CDE

QUESTION 2

Standard DSO Objects consist of which of the following tables? (1)
A. Activation Queue, Active Data and PSA

B. Active Data, Change Log and PSA

C. Change Log, Activation Queue, PSA

D. Change Log, Activation Queue, Active Data

Correct Answer: D

QUESTION 3

Which of the following are true regarding navigational attributes? There are 3 correct answers.
A. They are directly linked to the InfoCube Dimension tables.

B. They must be switched on for specific InfoProviders.

C. They do not generate additional tables outside the InfoProvider.

D. Behave like Characteristics in a Dimension table.

E. Must be part of the definition of the Characteristic InfoObject definition.

Correct Answer: BDE

QUESTION 4
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What are the indications of a missing or inappropriate aggregate? There are 3 correct answers.
A. Percentage of total query time spent on the database exceeds 30%.

B. Ratio of number of rows selected to total query run time exceeds 10%.

C. Database time less than 2 seconds.

D. Ratio of number of rows transferred to the number of rows selected is greater than 10%.

Correct Answer: ACD

QUESTION 5

You want to update the 3.x version of an SAP BW DataSource to a 7.x version with the capability to restore the original
version. What should you do during the migration to achieve this? Please choose the correct answer.

A. Replace the 3.x SAP BW InfoSource with a 7.x version SAP BW InfoSource.
B. Migrate the 3.x DataSource version with export.

C. Delete all entries from the Persistent Staging Area (PSA)

D. Create a transformation to replace the transfer rules.

Correct Answer: B
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